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1. At present, the ratio of the age of Maya and
Chhaya is 6 : 5 and fifteen years from now,
the ratio will get changed to 9 : 8. Maya’s
present age is:

orZeku esa ek;k vkSj Nk;k dh vk;q dk vuqikr 6%5 gS
vkSj vc ls iaæg o"kZ ckn] vuqikr 9%8 gks tk,xkA ek;k
dh orZeku vk;q gS%

SSC CGL Tier - 1

(a) 21 years (b) 24 years

(c) 30 years (d) 40 years

2. Ratio of the present age of a mother to that

of the daughter is 7 : 1. After 5 years the

ratio will become 4 : 1. What is the

difference (in years) in their present ages?

,d ek¡ vksj mldh csVh dh orZeku vk;q dk vuqikr
7 % 1 gSA 5 o"kZ ckn ;g vuqikr 4 % 1 gks tk,xkA
mudh orZeku vk;q esa varj (o"kZ esa) Kkr djsaA

SSC CGL 2020

(a) 30 (b) 28

(c) 29 (d) 31

3. The ratio of present ages of A and B is 7 :

8. After 6 years from now, the ratio of their

ages will be 8 : 9. If C's present age is 10

years more than the present age of A, then

the present age (in years) of C is:

A vkSj B dh orZeku vk;q dk vuqikr 7 % 8 gSA vc
ls Ng o"kZ ckn] mudh vk;q dk vuqikr 8 % 9 gksxkA
;fn C dh orZeku vk;q] A dh orZeku vk;q ls 10
o"kZ vf/d gS] rks C dh orZeku vk;q (o"kZ esa) Kkr
djsaA

SSC CGL 2020

(a) 56 (b) 52

(c) 59 (d) 45

4. The ratio between the present ages of A
and B is 3:5. If the ratio of their ages five
years hence becomes 13:20, then the
present age of B is :

A vkSj B dh orZeku vk;q dk vuqikr 3%5 gSA ;fn
ikap o"kZ ckn mudh vk;q dk vuqikr 13%20 gks tkrk
gS] rks B dh orZeku vk;q gS%

CGL 2019 Tier-II (18-11-2020)

QUESTIONS BASED ON AGE

(vk;q ij vk/kfjr iz'u)
(CLASSROOM SHEET)

(a) 32 Years (b) 35 Years

(c) 30 Years (d) 40 Years

5. Eight year ago, the ratio of ages of A and
B was 5 : 4. The ratio of their present ages

is 6 : 5. What will be the sum (in years) of
the ages of A and B after 7 years from now?

vkB o"kZ igys] A vkSj B dh vk;q dk vuqikr 5 % 4
FkkA mudh orZeku vk;q dk vuqikr 6 % 5 gSA vc ls
7 o"kZ ckn] A vkSj B dh vk;q dk ;ksx (o"kksZa esa)
fdruk gksxk\

SSC CGL MAINS 29 JAN 2022

(a) 80 (b) 112

(c) 112 (d) 102

6. The ratio of the ages of A and B, four years

ago, was 4 : 5. Eight years from now, the
ratio of the ages of A and B will be 11 : 13.
What is the sum of their present ages?

pkj o"kZ iwoZ A vkSj B dh vk;q dk vuqikr 4%5 FkkA
vc ls vkB o"kZ ckn A vkSj B dh vk;q dk vuqikr
11%13 gksxkA mudh orZeku vk;q dk ;ksx D;k gS\

SSC CGL 4 June 2019

(a) 80 years (b) 96 years

(c) 72 years (d) 76 years

7. The ratio of the age of Ram and Rahim 10
years ago was 1 : 3. The ratio of their age

five years hence will be 2 : 3. Then the ra-
tio of their present age is

10 o"kZ iwoZ jke vkSj jghe dh vk;q dk vuqikr 1%3
FkkA ikap o"kZ ckn mudh vk;q dk vuqikr 2%3 gksxkA
rks mudh orZeku vk;q dk vuqikr gS

SSC CGL Tier - 1

(a) 1 : 2 (b) 3 : 5

(c) 3 : 4 (d) 2 : 5

8. The ratio of present ages of two brothers

is 1 : 2 and 5 years back the ratio was 1 :
3. What will be the ratio of their age after
5 years ?

nks Hkkb;ksa dh orZeku vk;q dk vuqikr 1 % 2 gS vkSj
5 o"kZ iwoZ vuqikr 1 % 3 FkkA 5 o"kZ ckn mudh vk;q
dk vuqikr D;k gksxk\

SSC CHSL
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(a) 1 : 4 (b) 2 : 3

(c) 3 : 5 (d) 5 : 6

9. The ratio of the ages of A and B is 3 : 4.

Four years ago, the ratio of their ages was

5 : 7. What will be the ratio of the ages of

A and B four years from now?

A vkSj B dh vk;q dk vuqikr 3%4 gSA pkj o"kZ igys]
mudh vk;q dk vuqikr 5%7 FkkA vc ls pkj o"kZ ckn
A vkSj B dh vk;q dk vuqikr D;k gksxk\

SSC SELECTION POST - PHASE IX

(a) 6 : 7 (b) 5 : 6

(c) 4 : 5 (d) 7 : 9

10. The ratio of the age of a father to that of

his son is 5: 2. If the product of their ages

in years is 1000, then the father's age (in

years) after 10 years will be :

,d firk dh vk;q dk mlds iq=k dh vk;q ls vuqikr
5% 2 gSA ;fn o"kks± esa mudh vk;q dk xq.kuiQy 1000
gS] rks 10 o"kZ ckn firk dh vk;q (o"kks± esa) gksxh%

SSC CHSL

(a) 50 (b) 60

(c) 80 (d) 100

11. The ratio between Sumit and Prakash age

at present is 2 : 3. Sumit is 6 years younger

than Prakash. The ratio of Sumit’s age to

Prakash’s age after 6 years will be

orZeku esa lqfer vkSj çdk'k dh vk;q dk vuqikr 2%3
gSA lqfer] çdk'k ls 6 o"kZ NksVk gSA 6 o"kZ ckn lqfer
dh vk;q dk çdk'k dh vk;q ls vuqikr gksxk

SSC CHSL

(a) 2 : 3 (b) 1 : 2

(c) 4 : 3 (d) 3 : 4

12. The ages of Fatima and Ahmed are in the

ratio of 3:8. The sum of their present ages

is 44 years. The difference of their ages is:

iQkfrek vkSj vgen dh vk;q dk vuqikr 3%8 gSA mudh
orZeku vk;q dk ;ksx 44 o"kZ gSA mudh vk;q dk varj gS%

CHSL 26-10-2020 (evening shift)

(a) 30 years (b) 11 years

(c) 24 years (d) 20 years

13. The ratio of present ages (in years) of a fa-

ther and son is 15 : 8. Six years ago, the

ratio of their ages was 13 : 6. What is the

father's present age?

,d firk vkSj iq=k dh orZeku vk;q (o"kks± esa) dk
vuqikr 15%8 gSA Ng o"kZ igys] mudh vk;q dk vuqikr
13%6 FkkA firk dh orZeku vk;q D;k gS\

CHSL 19-10-2020 (evening shift)

(a) 65 years (b) 58 years

(c) 45 years (d) 78 years

14. Six years ago, the average of the ages of

Ravi, Mohan and Govind was 32 years. If

Shyam joins them now, the average of the

ages of all four of them is 36 years. The

present age of Shyam is:

Ng o"kZ igys] jfo] eksgu vkSj xksfoan dh vk;q dk
vkSlr 32 o"kZ FkkA ;fn ';ke vc muds lkFk tqM+
tkrk gS] rks mu pkjksa dh vk;q dk vkSlr 36 o"kZ gSA
';ke dh orZeku vk;q gS%

CHSL 14-10-2020 (morning shift)

(a) 35 years (b) 32 years

(c) 40 years (d) 30 years

15. The ratio of ages of A and B, 8 years ago,

was 2:3. Four years ago, the ratio of their

ages was 5:7. What will be the ratio of their

ages 8 years from now?

8 o"kZ iwoZ A vkSj B dh vk;q dk vuqikr 2 % 3 FkkA
pkj o"kZ iwoZ] mudh vk;q dk vuqikr 5 % 7 FkkA vc
ls 8 o"kZ ckn mudh vk;q dk vuqikr D;k gksxk\

SSC CGL 5 March 2020 (Morning)

(a) 7:8 (b) 4:5

(c) 3:4 (d) 5:6

16. Five year ago, the ratio of the ages of A and

B was 3 : 4. Five years from now, the ratio

of their ages will be 4:5. What is the ratio

of A and B, 10 years form now ?

ikap o"kZ igys] A vkSj B dh vk;q dk vuqikr 3%4
FkkA vc ls ikap o"kZ ckn] mudh vk;q dk vuqikr 4%5
gksxkA vc 10 o"kZ ds :i esa A vkSj B dk vuqikr
D;k gS\

SSC MTS 22 August 2019 (Afternoon)

(a) 9:11 (b) 6:7

(c) 5:6 (d) 7:9

17. Ramesh is three times older to Suresh.

After two years Ramesh’s age will be twice

the age of Suresh. What is the current age

of Ramesh.

jes'k] lqjs'k ls rhu xquk cM+k gSA nks o"kZ ckn jes'k dh
vk;q lqjs'k dh vk;q dh nksxquh gksxhA jes'k dh orZeku
vk;q D;k gS\

SSC MTS 22 August 2019 (Morning)

(a) 4 (b) 6

(c) 3 (d) 2
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18. One year ago, the ratio of the age (in years)
of A to that of B was 4:3. The ratio of their

respective ages, 3 years from now, will be
6:5. What will be the ratio of respective
ages of A and B, 9 years from now?

,d o"kZ igys] A dh vk;q (o"kks± esa) dk B dh vk;q
ls vuqikr 4%3 FkkA vc ls 3 o"kZ ckn mudh lacaf/r
vk;q dk vuqikr 6%5 gksxkA vc ls 9 o"kZ ckn A vkSj
B dh lacaf/r vk;q dk vuqikr D;k gksxk\

SSC CGL Tier II 11 September 2019

(a) 7:6 (b) 10:9

(c) 9:8 (d) 8:7

19. 5 years ago, the ratio of the age of A to that
of B was 4:5. Five years hence, the ratio

of the age of A to that of B will be 6:7. If,
at present, C is 10 years younger than B,
then what will be the ratio of the present

age of A to that of C ?

5 o"kZ igys] A dh vk;q vkSj B dh vk;q dk vuqikr
4%5 FkkA ikap o"kZ ckn] A dh vk;q vkSj B dh vk;q
dk vuqikr 6%7 gksxkA ;fn] orZeku esa] C, B ls 10
o"kZ NksVk gS] rks A dh orZeku vk;q vkSj C dh orZeku
vk;q dk vuqikr D;k gksxk\

SSC CGL Tier II 12 September 2019

(a) 3:2 (b) 5:4

(c) 4:3 (d) 5:3

20. The ratio of the ages of A and B, 8 years
ago, was 5 : 7. The ratio of their ages, 8

years from now, will be 9 : 11. If the present
age of C is 13 years less than that of B, and
the present age of D is 8 years less than

that of the age of A, then the sum of the
present ages of C  and D, in years, is:

8 o"kZ iwoZ A vkSj B dh vk;q dk vuqikr 5%7 FkkA
vc ls 8 o"kZ ckn mudh vk;q dk vuqikr 9%11 gksxkA
;fn C dh orZeku vk;q B dh vk;q ls 13 o"kZ de
gS] vkSj D dh orZeku vk;q A dh vk;q ls 8 o"kZ de
gS] rks o"kks± esa C vkSj D dh orZeku vk;q dk ;ksx gS%

SSC SELECTION POST - PHASE IX

(a) 47 (b) 55

(c) 43 (d) 53
21. The sum of the present ages of father and

a son is 52 years. Four years hence, the

son’s age will be 
1

4
 that of the father.

What will be the ratio of the ages of the
son and father,10 years from now?

firk vkSj iq=k dh orZeku vk;q dk ;ksx 52 o"kZ gSA

pkj o"kZ ckn] iq=k dh vk;q firk dh vk;q dh 
1

4
gksxhA 10 o"kZ ckn iq=k vkSj firk dh vk;q dk vuqikr
D;k gksxk\
(a) 2 : 7 (b) 2 : 5

(c) 3 : 8 (d) 1 : 3

1. (c) 2.(a) 3. (b) 4. (b) 5. (d) 6. (a) 7. (b) 8. (c) 9. (d) 10. (b)

11.(d) 12.(d) 13.(c) 14.(d) 15.(b) 16.(a) 17.(b) 18.(c) 19.(c) 20.(c)

21.(d)

Answer Key
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